1D pull distribution

asym_hcm_target (ppb)
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asym_bcm_target RMS (ppm)
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asym_bcm_an_us (ppb) 1D pull distribution
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asym_bcm_an_us RMS (ppm)
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asym_bcm_an_ds (ppb)

X2 7 ndf 6.629 / 53
po ~52.67 + 229.5

3000

2000

1000

-1000 H— * [ ] [ ]

-2000

~3000 |—

0000 O00O
000 BNYON ROYD

25

20

15

10

1D pull distribution

Mean

Std Dev

Underflow

Overflow

X2 / ndf

Constant

r Mean

- Sigma

0.006701 + 0.04767

0.3503 +0.03371

1.022/1

29.76 +5.40

-0.0234 +0.0579

0.3797 + 0.0461

-III|III|III||J|||Ll||||||||||||

0
8 6 4 2 0 2 4

6 8




asym_bcm_an_ds RMS (ppm)
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1D pull distribution

X2 / ndf

asym_bcm_an_ds3 (ppb)
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asym_bcm_an_ds3 RMS (ppm)
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asym_bcm_dg_us RMS (ppm)
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1D pull distribution
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asym_bcm_dg_ds RMS (ppm)

H

______________________
o T} o Te} o T}
o e} © ~ ~ ©
- — — — — —

(wdd) sy

o
(o}
—

Lo
Lo
—

o
Lo
—

7'09SY
€095y
2'09SY
T'09sY
0'09SY
7’655y
€695y
2’655y
T'69SY
0'65SY
£'8395Y
2’855y
T84Sy
085Sy
V' LSSy
€8Sy
LSSy
T'.9Sy
0°LSSY
G'9GGY
'98SYy
€986y
2’985y
T'99SY
0985y
ogeieisig
2’985y
T'99SY
0955y
V'vasy
€vasSy
2'vssy
T'vssy
0'vSSYy
7'€SSY
€'€Ssy
[A=ici4
T'essy
0'€sSy
v'essy
oacicig
¢'essy
T'essy
0¢ssy
asid
€TSSy
¢TSSy
T'18SY
0'TSSY
¥7'0SSY
€055y
2¢'0SSy
T'0SSY
0°0SSY



1D pull distribution
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diff_bpmE RMS (um)

_________
6. A 2
© © ©

(wn) SNY

7'09SY
€095y
2'09SY
T'09sY
0'09SY
7’655y
€695y
2’655y
T'69SY
0'65SY
£'8395Y
2’855y
T84Sy
085Sy
V' LSSy
€8Sy
LSSy
T'.9Sy
0°LSSY
G'9GGY
'98SYy
€986y
2’985y
T'99SY
0985y
ogeieisig
2’985y
T'99SY
0955y
V'vasy
€vasSy
2'vssy
T'vssy
0'vSSYy
7'€SSY
€'€Ssy
[A=ici4
T'essy
0'€sSy
v'essy
oacicig
¢'essy
T'essy
0¢ssy
asid
€TSSy
¢TSSy
T'18SY
0'TSSY
¥7'0SSY
€055y
2¢'0SSy
T'0SSY
0°0SSY



1D pull distribution
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diff_bpm4aX RMS (um)
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1D pull distribution
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diff_bpm4eX RMS (um)
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diff_bpm4aY RMS (um)
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1D pull distribution
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diff_bpm4eY RMS (um)

(wn) SNY

7'09SY
€095y
2'09SY
T'09sY
0'09SY
7’655y
€695y
2’655y
T'69SY
0'65SY
£'8395Y
2’855y
T84Sy
085Sy
V' LSSy
€8Sy
LSSy
T'.9Sy
0°LSSY
G'9GGY
'98SYy
€986y
2’985y
T'99SY
0985y
ogeieisig
2’985y
T'99SY
0955y
V'vasy
€vasSy
2'vssy
T'vssy
0'vSSYy
7'€SSY
€'€Ssy
[A=ici4
T'essy
0'€sSy
v'essy
oacicig
¢'essy
T'essy
0¢ssy
asid
€TSSy
¢TSSy
T'18SY
0'TSSY
¥7'0SSY
€055y
2¢'0SSy
T'0SSY
0°0SSY



1D pull distribution

diff_bpm11X (nm)

N © ) ) ~ ~ & )
5] = = < © ©
i g g ~ g 3
IS} =3 =1 i hal (=]
o ; ) o
M + © © + o ]
s 8 S g g .
2 o 3 o
S S © ]
T =] -1
> m 3 € ]
. & 3 &z § . ¢
I g £ ¢ S § § 5
= 2} =} o > (8] = 2]
T -
[ n
AR T W NN T W ! | I T R R R N S T T
o © © < N o
—
[sp e}
o N
~ ©
Lo
o+
N~
55 —
N~
n—e—
|
Y—
© —
c
~
NP =}
<
——
—_————
———i
—_—
—_——
—_——
—_—
——
——
—_——
—
______________ ______
o o o o o o
n o [Te) o o
- — | —ﬂ.




diff_bpm11X RMS (um)
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1D pull distribution
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asym_usl (ppb) 1D pull distribution
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asym_dsr RMS (ppm)

7'09SY
€095y
2'09SY
T'09sY
0'09SY
7’655y
€695y
2’655y
T'69SY
0'65SY
£'8395Y
2’855y
T84Sy
085Sy
V' LSSy
€8Sy
LSSy
T'.9Sy
0°LSSY
G'9GGY
'98SYy
€986y
2’985y
T'99SY
0985y
ogeieisig
2’985y
T'99SY
0955y
V'vasy
€vasSy
2'vssy
T'vssy
0'vSSYy
7'€SSY
€'€Ssy
[A=ici4
T'essy
0'€sSy
v'essy
oacicig
¢'essy
T'essy
0¢ssy
asid
€TSSy
¢TSSy
T'18SY
0'TSSY
¥7'0SSY
€055y
2¢'0SSy
T'0SSY
0°0SSY



83006157
g 2 ¢ 8 £
8 2 o
s 2 3 2 9 9
o ¥ 8 8 B 7
S 0 el ! S
2 8 =] =y .
s 3 ]
g ]
o -
2 P
2
e & 3 € 8 § : ¢
c o h=} o — c <
§|f 8 5 5§ = 58 £ ¢
S =
= —
3 -
2 3
= 7]
0 —]
ho) -
m -
2 I
)
—
L | R T R I T M R N
N o [ee) © o
- -
[~
/M
~ <
M+_
n d
©
o)
o))
————
“—
R]
c
——
~
NP =} ——
> Q| — e .
P
o
o
= ————
N
o
> —e——
a_
%)
°
m_ ———
> ———
1)
© —————
—
———
——
—
—_———
L1 Ll o1 il
o o o o o o
o o o o o
o o o o o
n o n n o
- - | 4.




g RMS (ppm)

ds_av

asym_

______
o
~
(92

(wdd) sy

7'09SY
€095y
2'09SY
T'09sY
0'09SY
7’655y
€695y
2’655y
T'69SY
0'65SY
£'8395Y
2’855y
T84Sy
085Sy
V' LSSy
€8Sy
LSSy
T'.9Sy
0°LSSY
G'9GGY
'98SYy
€986y
2’985y
T'99SY
0985y
ogeieisig
2’985y
T'99SY
0955y
V'vasy
€vasSy
2'vssy
T'vssy
0'vSSYy
7'€SSY
€'€Ssy
[A=ici4
T'essy
0'€sSy
v'essy
oacicig
¢'essy
T'essy
0¢ssy
asid
€TSSy
¢TSSy
T'18SY
0'TSSY
¥7'0SSY
€055y
2¢'0SSy
T'0SSY
0°0SSY



1D pull distribution
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asym_atll (ppb) 1D pull distribution
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asym_atl2 RMS (ppm)
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1D pull distribution
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